BRI

B3 [T0F20H _[10:13]
100m
B/NEDER 12. 27
R
[14] &Es& -1.8 [ 28] JEE -1.7
I b-Y| No. KE & ik sk % | & -V No. KE & ik i WE |
1 6 9FE B Q) 17.55 1 4 M0H BE 16. 69
3FIVN MYy =M vy i EBIN
2 8 39 EH EAB®G) 17.71 2 6 47T mE Q) 16. 82
=yJ14 4mY L BHYT hYY K 138
3 4 450 KEQR) 18.20 37 5 L@ AREG) 16. 91
0§ en% £330 Wh7 47" % FARE/N
4 3 36 ®mEXRQ) 18.54 42 66EAM EQ) 17.10
7R T 493 LI #9314 o B
50 2] 46 83 ZAEQG) 18.64 5 7 16K ©B%QG) 17.10
524 )y BN KMF Yavr BAD/N
6 5 4058 KX Q) 18.83 6 3 17/#0;2 EZ= Q) 21.83
RJuF hvh LI YHE 49 5 BaF0/N
707 3EIE BH Q) 20.13
5 F yyf A 138
BALLL—R
JESI No. K % ik fEs (E) | EE #8 |[NEHL
1 44/ - (3) =4 16.69 (-1.7) 2 1
2 4 7T AmEk Q) Ak 3L 16.82 (-1.7) 2 2
3 43w AKR() FEARB 16.91 (-1.7) 2 3
4 66 EAR () &y B/ 17.10 (-1.7) 2 4
4 16 R BHQ) BRI 17.10 (-1.7) 2 5
6 98 Bt Q) =R 17.55 (~1.8) 11
7 39|@m% BEAE®Q) I 17.71 (-1.8) 12
8 45O KEQR) BN 18.20 (-1.8) 13
9 36 E #EKOQ LN 18.54 (~1.8) 1 4
10 46 &5 BABEO) LR 18.64 (-1.8) 1 5
11 40 BN %A (3) LN 18.83 (~1.8) 1 6
12 3EIG R Q) Ak 13EdE 20.13 (-1.8) 17
13 17#E B2=03) BRI 21.83 (-1.7) 26
4
FFIPFIE B3 T0R208 [10°10]
100m
B/NEDER 12. 27
R
BiE -1.6
I b-Y| No. K & ik ik aE
1 i 48 %=s KEt @) 16. 30
2R BB/
2 4 14174 BF(4) 17.38
8545 Mbb TN
309 64 BE BAG) 17.60
hat Yans FTERE/I
4 8 59 LAF M@ 17.87
AL N ERIN
50 5 49 A RE@) 17.97
DN ¥y A BB/
61 2/ 10 &I L@ 20.55
Th7 4% =7\
3 50 fEFH EE @)
e 197 R/ Ri5
6 60 K+ FE @)
L3 LY AN Ri5




LYY 7

(REE [T0F20H _[10:03]
100m
RN ERER 12.27
R B
[ 148 & -0.5 [ 248 EE +0.9
JE] -y No. K & RA mEfmE & V-V No. K & RA ik WE
1 3 51 % T& O 15.25 1 6 15/87:;R 16X (5) 14.14
17t VI pELE N /47 194 &/ F N
2 7 8 e =i¥EOB) 15.67 2 5 1258 EX0G) 14. 68
Y hyen HHE/D 4893 Ynh #BIE/ND
3 5 11EFXR BK®) 16. 40 3 8 6 #1L 2 (5) 15. 36
TH+ Yankd A I3EIE 337 BN
4 8 12[/NSETR BB (5) 16. 91 4 7 LA E36) 15.88
T 415 Y194 FRE/N TIEb Yagh FET/
5 9 22 ¥ &k 5) 17.73 5 3 13lua ¥ (5) 16. 23
3387 HR Y BRF0/I Y90 F b FE/N
6 2 25 1Ly K7E (5) 19.18 6 4 PRINT - 6] 18. 65
RN BEFD/IN Y 493 RRFD/N
1 4 20\/h#k BESR (D) 19. 32 9 21 Fn '3 05)
N vy hhy REF0/N M oaqb REF0/ Ri5
8 6 24 &1L KF0(5) 19. 38
A543 43 BB FD/N
BALL—R
JEGZ] No. E & RA BB (A) | W& # IE6
1 15 BiR K (5) &/ FHA/N 14.14 (+0.9) 2 1
2 258 EX®) HTIEND 14.68 (+0.9) 2 2
3 51 %# T&®0) pELEIN 15.25 (-0.5) 1 1
4 6% 1L 52 (5) ZERE/N 15.36 (+0.9) 2 3
5 8 e =i¥E(B) SHH/N 15. 67 (-0.5) 1 2
6 UK 3 5) FET/IN 15.88 (+0.9) 2 4
1 13lA &#&E (5) FE/N 16.23 (+0.9) 2 5
8 11EAXR BHG) AR I3EIE 16.40 (-0.5) 1 3
9 12/ /MR B (5) FREND 16.91 (-0.5) 1 4
10 22 ¥ &k (5) REF0/ 17.73 (-0.5) 1 5
1 23lLF FRE (D) REF0/ 18.65 (+0.9) 2 6
12 25| 1Ly K7E (5) REF0/ 19.18 (-0.5) 1 6
13 20| /h#k RS (B) REF0/ 19.32 (-0.5) 1 1
14 24/ &1L K#0(5) REF0/ 19.38 (-0.5) 1 8
4
FFINF6E B3 T0R208 1000 ]
100m
RN ERER 12.27
EE +0.4
V- | No. K & Ra ik s
1 4 52| B & RiR(6) 14. 30
1v9 | a9 LN
2 2 5 KR E+h(6) 14.87
Hng w4¥ AR I3EIE
3 6 56 & £k (6) 15. 26
Fr ¥ 1y SRR/
4 7 26//NEFE v (6) 15. 31
/N5 BRF0/I
5 5 28 H X (6) 15. 60
Ath 194 4 BRF0/I
6 3 27\ 1Ly Z=1& (6) 16. 39
Y+ 7T BRF0/I




FFHFIF

B3 [10H20H  10:50 |
100m
B hEnek 10. 85
[ mﬂ] Jitnz -2. 1 _ . [ 2%&] Jitnz -2.1 _ _

g v- ) it & EE (N L-»] No. K 4 it & /EE
1 4 6370 T#F ﬂ](]) 15. 31 1 3 5146/;h@A E (1) 13.77
YELT hhl HEr & 18 vy A&t
2 7/ 5411 fEE BARER(1) 15. 63 2 9| 5282 /I ¥E=E (1) 14.50

114 39smy =g Yy v EkE
3 6| 4945 =@ 1&&FH 1) 15.72 3 8 5462 K& HLX&E (1) 14.82
7 U8 anr HEr & T R NS
4 8| 5480 TF A1) 15. 74 4 5 52811l Rt (1) 14.83
Y445 b ke A Y3o¥ Bk
5 9| b415 FK fth (1) 15.97 5 2| 6376/MZF E=K() 14.83
THE Y =g 0 99 HEr &
6 2| 4917 EEU=' FAM 17.20 6 4] 5449 /BRI BE(T) 14.88
v ) b HEr & Y h NS
3| 5432 EEE #osE (1) 7 70 5116 /hk Z4F (1) 15.33
ATV B % Rt RS 'y My i
5| B276iFEH HEXR() 8 6| 5476 B FiE (1) 15. 60
754 4hen EkEs Ri5 hY° 3 3ty i
9 1) 5431 /E E&H) 15.89
1979 bEF =g
[ 3%&] AE -1.2 _ . [ 448] RLE +0.1 _ _
g vb-v | No. E £ it & 1EE  NE L-»] No. K 4 it & /EE
1 3| 5430;BHE itk (1) 13.46 1 3] 50762 T E() 12. 36
298 4y =g Nz VAN =L
2 9/ 5180 B =THE() 13.50 2 4] 5117 /@ &HE& ) 12.98
Y'Y 493 &G EVZ I ke
3 7 5484 trA (1) 13. 64 3 7/ 5321 £ BFEX) 13.02
4F 19 ik Y 19% &/ AP
4 2| 5631 lL% &ER(1) 13.98 4 2| 5429 EIE %R (1) 13.03
Y4 4 pEAY fft B R &+ h39% 2%y =g
5 4 51125FK gEE ) 14. 01 5 6 5008 uE ER) 13.08
Y3 Yagtq ke WY Yamn EHEREHG
6 5] 5263 /L ZEXK () 14.16 6 8 5001 &:& =msk(1) 13.28
AT T1% EkEs AN RY3Fh EHEREHG
7 6| 4999 hEIR AR (1) 14. 21 7 9 4981 &+ &) 13.43
Thy+ MY EHEREHG RISRZYY) 4 [ o
8 8| 5006 #5K &th(1) 14.25 8 1] 5529|FEM@ EE) 15. 46
ARF MY EHEREHG 5 ah L&
9 1] 4978/k@E EKD 15.30 5 5485 H#f BAEE(
V2 ML EVE] By Y47 19409 Bis Ri5
BFhEIF
100m
ME4E No. K 4 iR ek (A) I E 1 IEAL
1] 50762 F E() =&GH 12.36 (+0.1) 4 1
2] 5117 &M@ E&#®0) Hitg 12. 98 (+0.1) 4 2
3] B321E BHE() &/ FAF 13.02 (+0.1) 4 3
4] 5429 A #HR (1) E i 13.03 (+0.1) 4 4
5| 5008 (L EER) EHERHG 13.08 (+0.1) 4 5
6/ 5001|%:8 =/ (1) EHEREHG 13.28 (+0.1) 4 6
7] 4981 £+ =E D) 1 4 [ 13.43 (+0.1) 4 7
8| 5430 ;@ th (1) HEg 13.46 (-1.2) 3 1
9 5180 8 EHEX) REILER 13.50 (-1.2) 3 2
10| 5484 /7rA & (1) e 13.64 (-1.2) 3 3
11 5146;h@ &£ (1) REILER 13.77 (-2.7) 2 1
12| 5631 L& &=ER(1) MtiE &%+ 13.98 (-1.2) 3 4
13] 5112 &K BE&E) Hitg 14.01 (-1.2) 3 5
14 5263 LIt BEXK() BT 14.16 (-1.2) 3 6
15 4999 hE4R AR (1) REFREEH 14.21 (-1.2) 3 7
16| 5006 #5K &th (1) REBREEH 14.25 (-1.2) 3 8
17| 5282 /h#& ¥E=E(1) BT 14.50 (-2.7) 2 2
18| 5462 KfE &HL&E (1) NFEF 14.82 (-2.7) 2 3
19 5281 H1u FRth (1) BT 14.83 (-2.7) 2 4
19] 6376//hZE =K () HET R 14.83 (-2.7) 2 5
21| 5449 /NEFIE BE (1) NFEF 14.88 (-2.7) 2 6
220 4978 @ ZEAX() 12 4 [F 15.30 (-1.2) 3 9
23 6370 T# M) HNET R 15.31 (-2.1) 1 1
24| 5116[/pER ZF () wieh 15.33 (-2.7) 2 7
25 5529 E@H ERE(N) [LfE 15.46 (+0.1) 4 8
26 5476 B HIE (1) Bk 15.60 (-2.7) 2 8
27 5411 A FHXER (1) HEg 15.63 (-2.1) 1 2
28 4945 {=H && (1) HNET R 15.72 (-2.1) 1 3
29 5480 TF HA) Bk 15.74 (-2.1) 1 4
30 5431|R/E E&() HEg 15.89 (-2.7) 2 9
31 5415 XK #t (1) HEg 15.97 (-2.1) 1 5
32 M1THER BFAMD HET R 17.20 (-2.1) 1 6




FFhE24E B33 T0R208 __11.05]
100m

B hEnek 10. 85
| RE |
[ 1%&] JEL;E -0.9 [ 2%&] JEL;E -1.5
g v- K 4 it R BE | (E - K 4 it & /EE
1 9 5427 I8 KM (2) 13.75 1 7 5035 WT B (2) 12.98
V'3 3 HiEt Ly IR\ EHEREHG
2 6| 5260 1A A (2 13.87 2 4] 6384 F1H B (2) 13.30
YIZ 3 44b EkE 75" a9 HNET o
3 4] 6398 RIE RTF (2) 13.95 3 8| 5190 F%H EFH D 13. 31
YI§ a9Af i 734 3IU3¥ iRt
4 1| 5456|{& & Lkt (2) 14.39 4 6| 5629 fhFt & (2) 13.37
#bY E0% NS Thh7 ERbY it B R &+
5 3 5448 %r@A 1Z(2) 14. 47 5 2| 5233ER #IK(2 13.52
s vty NS RUYIVEVL] BT
6 2| 5099 HE K2 14. 66 6 3 6175 ®Hk(2) 13.55
1\ Yans =¥ 4ryh vt Nepsg
7 7 4914 gRiE L (2) 14.80 7 9| b444 =B FHE(2) 13.57
4" Yy’ HNET R Y AR E NFEF
8 8| 5267 th#t £HE(2) 14. 81 8 5| b459 FA #E (2 13.96
Thh7 Vv EEH Mo19% NS
9 5 4912 {R#E Kih(2) 15.18 1) 5473 EEE RE Q)
1My 4 4% HEr & R YH i Ri5
[ 348] RLE -0.7 [ 448] PRLE -1.1
IE| -2 | No. K 4 it & EE  (NE L-»] No. K 4 it iR EE
1 4] 5625 BFt S¥E(2) 12. 61 1 7 6173 =E R# () 12.24
YL vt it B R &+ VYT MR NS
] 6| 5191 /M FiE(2) 12.69 2 41 5228 E#N #(2) 12.48
Yy paE &G LYoV wmIESP
3 2 5192 /N FERE() 13. 11 3 3| 5087 FAR HRE(2) 12.68
Y 1% &G ==L VK =B
4 3| 6172/ @+ £&(2) 13.25 4 9| 5425 FiE #x(2) 12.69
YL H4T Nepgg ThY ER73 =g
5 5| 5256 dt4t EE (2) 13.25 5 6| 5031/t #E(2) 12.75
447 VY EkE 4y bl EHEREHG
6 7/ 5033 He #& (2 13.53 6 5 5426/ iR =i (2) 12.92
b EHEREHG 349 =g
7 9| 5450 LEE =R (2) 15.08 7 8| 5552|=FR BEF(2) 13.00
Yy Ty NS 47 29 tZ£&d
1) 5523[/ML  HE(2) 8 2 5508 4iE E&(2) 13.19
v 44y LS i1 9 Yay i
8| 6588 HFt K& ((2) 9 1] 5527/EH% KHEE(2) 13.82
Thh5 447 BT Ri5 4h 5 4% L&
[ 648] RLE -1.2
IE| -2 | No. K 4 it iR EE
1 1 49714k B (D) 12.82
N FY Yagn 1 4 [ o
2 3| 4966 AL AE (2 13.00
Vkak@lEal 1 4 [ o
3 2| B517iI# #HZE 13.67
145 494 L&




FFHF2E

100m

184 LL—ZX]
IESL] No. K 4 RzES I (A) - 2 IEAL
1 6173 &% RM(Q) NEEE: 12.24 (-1.1) 41
2 5228 W0 #(2) BEE 12.48 (-1.1) 4 2
3 5625 B4t 2 (2) HWEREH 12.61 (-0.7) 3] 1
4| 5087 FIAH HE (2 =B+ 12.68 (-1.1) 4 3
5 5191)/\# FHE(2) EFHILEH 12.69 (-0.7) 32
5| 5425|5:E HX (2) =R+ 12.69 (-1.1) 4 4
75031 /hitn $8(2) EHREH 12.75 (-1.1) 475
8] 4971[/Mk REIE (D 12 4 12.82 (-1.2) 51 1
9 5426 £iR =i#(2) =R 12.92 (-1.1) 46
10 5035/ ILTF BETH (2) EHREH 12.98 (-1.5) 2| 1
11 4966/ L A& (2) 124 @ 13.00 (-1.2) 5 2
11 5552 =R BETE(Q) +t=—24 13.00 (-1.1) 47
13] 5192//he ZZHE (1) EFLEH 13.11 (-0.7) 3. 3
14| 5508 |58 B%(2) =it 13.19 (-1.1) 4 38
15 6172/ #F £&2) NG EE: 13.25 (-0.7) 3 4
15| 5256 Jt#f EE(2) ERES 13.25 (-0.7) 3 5
17 6384/ F1H B3 Q) HIETch 13.30 (-1.5) 2 2
18] 5190 %+ [ () EFHILEH 13.31 (-1.5) 2 3
19 5629 ch#f 238 (2) WEREH 13.37 (-1.5) 2 4
20 5233 ER MK (2) BEH 13.52 (-1.5) 2 5
21] 5033 EHs B&EQ) EHREH 13.53 (-0.7) 36
2 6175 1T BRO) NEEE: 13.55 (-1.5) 2 6
23| 5444 BB 4 (2) NEEE 13.57 (-1.5) 2 | 1
24 551714 2 () LES 13.67 (-1.2) 5 3
25| 5427 & RBH(2) =R 13.75 (-0.9) 11
26] 5527 A (2 L{ES 13.82 (-1.1) 49
27 5260 B HA(2) RS 13.87 (-0.9) 1 2
28| 6398 BiE RF (2) ®=i® 13.95 (-0.9) 1.3
29| 5459 )3§ WE () NEEEE 13.96 (-1.5) 2 8
30| 5456 {£8 [ (2) NEEET 14.39 (-0.9) 14
31 5448 Fre 1= (2) NEEE: 14.47 (-0.9) 1.5
32 5099 #E HA (2 =BHh 14.66 (-0.9) 1.6
33| 4914 fRiE %ﬂz) HIETch 14.80 (-0.9) 17
34 5267 it EHE(2) ERES 14.81 (-0.9) 1.8
35| 5450 IBE Z 3 (2) NEEE: 15.08 (-0.7) 37
36 4912 i A (2 HET ch 15.18 (-0.9) 1.9
FFHFEIEF EX: [T0H208 _ [11:20 |
100m
Bk 10.85
L] R -1 ) I, ) )
g | v-» KE 4 ik LRl V] b-v KE 4 ik Lol
11 9 4959 ]EE Q) 11.89 1 5473 BEH HREQ)
#5217 Y39 124 Eh 1/ b3 Eiop Ri5
2] 6 5162 $#R3+Q) 11.99
#7 Enp EFHLEH
3 4 5265 K& #Ez= Q) 12.26
I ECLYs R
47 8 5275/kHE —H®) 12.28
AT HRA R
5 7 5420 FE#E EAQ) 12.66
kRt Yub EHEH
5 5419 /NLY IBESH Q)
WY REVIY) Bt Ri5
|24 LL—Z|
IESL] No. K 4 ik i () - 2 IEAL
1 4959 RBE 3 (3) By Eh 11.89 (-1.2) 11
2| 5162 #(3) EFLEH 11.99 (-1.2) 1 2
3| 5265 BRAI %= (3) ERES 12.26 (-1.2) 13
4] 5275/ki —th (3) EERES 12.28 (-1.2) 14
5 5420 E#E ZAQ) EHEH 12.66 (-1.2) 1 5




BRI

R 10208 [11:40 ]
200m
Bk 21.92
R B
[ 148] Jil;z -0.5 [ 24A] JE:L:E -1.7
g -y K 4 RA KR-mE | [E -V K 4 RA ek EE
1 6 6303 X% BEE () 28. 34 1 6 5333 FE ExXM 25.92
Y/ Wah HIET 1M Yavy B/ HAER
2 3 5492 dt/® A (1) 29. 60 2 4 5002 FE (1) 27.23
LY AVALEVIY Fikg 1) Emy EHEHG
3 8 4980 aK HE(D) 30. 40 3 7| 6280 1k B (1) 27.38
YYEF 714 By Eg #ho 1944 MtE R+
4 4 5440/# ﬁ(]) 31.03 41 5 5245 B (1) 28.34
L3n3 b N g Wy by BIETP
5 71 4998 ki %x €] 31.15 5 3| 5240 m:E FHE(D) 28. 61
#9354 Y1y EHERLHS 3137 HR % BIETP
6 5 5007 @& & (1) 31.69 6 20 4977 #uL # (D) 30.42
WE Y EHERET THY D40 By Eg
7 20 49791\ &KX 32. 41
¥4 a4 By Eg
BALLL—R
JEGI] No. E & RA B (B | w5 #8 [IEf
1] 5333 F®E &% (1) B/ HAEF 25.92 (-1.7) 211
2| 5002 fF@& & (1) EHFERHF 27.23 (-1.7) 21 2
3 6280 £k BAr (1) MERESH S 27.38 (-1.7) 2 3
4] 6303 X% E&E () HIET 28.34 (-0.5) 1 1
4] 5245 #3458 2 (1) BIETP 28.34 (-1.7) 2 4
6 5240 #iE F#E(1) FBIEHP 28.61 (-1.7) 215
7] 5492 JtIE ERA (1) Bt 29.60 (-0.5) 1 2
8 4980 A& FHE(1) By ETf 30.40 (-0.5) 113
9 4977/®%bL (1) By Es 30.42 (-1.7) 216
10 5440(#f £ #& (1) NEZ=ES 31.03 (-0.5) 1 4
11 4998 %3 E& (1) EHERHF 31.15 (-0.5) 115
12] 5007 s B () EFEREHF 31.69 (-0.5) 176
13] 4979\ &KX 4 T 32.41 (0.5) 1 7
4
FFhZ24F B33 T0H208 1150
200m
Bk 21.92
R B
[ 148] JE:L:E -0.2 [ 24A] JE:L:E -1.4
g -y K 4 RA KR-mE | E -y K 4 RA e EE
1 9 5515 Sl #XK(Q2) 27.66 1 8 5322 TH &£ 2 24.85
EAsIVEVENE Hikg VEY YutTy &/ Ff
2 4] 5551 #3K EE(2) 27.80 2 2| 5042 8REF £X (2 25.36
IYEL Hh t_-4&dh 11/ 5% EHERET
3 1/ 6305 2% —&©2 28.25 3 5/ 5626 11 &I (2) 25. 41
T4/ ERY HIET a7 198 HEESHS
4 8/ 5259 #AK EIR(2) 28.40 4 4 4918 AHE it (2) 26.43
WEF U EEH ho8 b HIET
5 7| 5189 2% HEXE(2) 29. 41 5 7/ 5510 81l = (2) 26.57
hnq7 1% EHIES TUh7 44% Fikg
6 6| 54525 HE #(2) 29.55 6 3] 5505 BT £(2) 26.78
P) %IV N g 1994 Y39 Fikg
7 20 BIT1EH EE(Q) 30.27 7 6/ 5328 F:E & (D) 27.95
4 bR Nisp B 31347 w4b B/ HAER
3] 5195 A1l &0 (2) 8 9] 5520 thAf MR (2) 30.27
WY 447 EHIES Ri5 thh7 17" % LfEs
5 5186 £& mth (2)
YFEM Yady EHIES Ri5




PEIE Y
200m

BALL—X
JEHL No. E £ R4A ek (A) RE #8 IR
1 5322/ FTH &= () IR i 24.85 (-1.4) 2 1
2| 5042 gREF E£X(2) REHREHS 25.36 (-1.4) 2 2
3 5626 ¥ KHE(2) i@ R4 25.41 (-1.4) 2 3
41 4918 AH (2 HIET h 26.43 (-1.4) 2 4
5 5510 4&JIl R (2) Bt 26.57 (-1.4) 2 5
6/ 5505/ &ETF Z(2) Bt 26.78 (-1.4) 2 6
70 5515 #ull #XK(2) Bt 27.66 (-0.2) 1 1
8 5551 #xA EE (2) +t=-& 27.80 (-0.2) 1 2
9] 5328 Em:E B3 (2 &/ HfEh 27.95 (-1.4) 2 7
10| 6305;%E 1-& (2) HIET h 28.25 (-0.2) 1 3
11] 5259[#aK EiR(2) EREH 28.40 (-0.2) 1 4
12| 5189|2F EX£ (2) RIS 29.41 (-0.2) 1 5
13 5452 A #fi(2) Nk B 29.55 (-0.2) 1 6
14 6171 jBH BFH(2) NEIEES 30.27 (-0.2) 1 1
14| 5520 th4t {F¥R(2) ILfE 30.27 (-1.4) 2 8
FFhE34E
200m
B Rk 21.92
R
ELE -1.8
g b-Y| No. K 4 R4A -9 £
1 4 5279 =4 B () 23.99
iy 4 EEdg
2 7 5010/ £iF Ft (3) 24.54
hofE b7 ¥ EHEIHG
3 3 5019 FR £&5Q0) 24.56
VLIS %7 RHEHS
4 6 5169/ FK HEQ) 25. 11
THE RS
5 8 5176 Azl |E Q) 25.44
WY 83 RS
6 2 5158//hEB E{E3 (I) 26.13
1Y b RS
7 5 5255 &R &35 (3) 26. 56
h431 eoy TS
8 9| 5532/ dtIR EXREREQ) 26. 60
405 19y 09 L&

[(REE

1108208

[12:00 |




EEYETY-S

1000m

B/NRER 2,52.94
R
& No. E & mR% n WS
1 1 61 KH R4 3,57.40
A _on Y BAM
2 3 7 0k EAR(4) 3,59.22
A Fte K /1
3 2 4\eF RE@ 4,34.63
h43 939% BHD
BFhESFE
1000m
B/NRER 2,52.94
R
& No. E & HR% w8 S
1 4 2 KA KX 5) 3,32.35
$9% 19 A 23EE
2 6 11 KFE #2zBh(5) 3,46.72
M5 e FRAN
3 5 65 1&IE ZFKER (5) 3,51.68
3397 29309 HEET N
BFhFE6F
1000m
B/NRER 2,52.94
R
& No. E & HR% B hE
1 7 29/ FH X (6) 3,12.26
8 4h3 BRI/
2 8 30| Ft XK1 (6) 3,18.49
L3 i BRI/
3 10 55/E0 BX(6) 4,08.34
L) BHD
49 54 BFE) 4,49.37
1%y #4304 BHD

B3 [T0F208 _ [12:30]
B3 [T0F208 _ [12:30]
B3 [T0F208 _ [12:30]




BRI

3000m

Bk 8,31.86
R B
I No. K 4 RA BEkEE
1 20 5482 /8RB BEK(1) 10, 28. 32
1493 44 Hiboh
21 10 5491 =8 SE0) 10, 58. 57
XYY a9y Hikg
3| 20 5115 F:Z& K# () 11,05.73
M7 4 4% Fikg
47 217 5179/ #flh B () 11,009. 63
INAE P EHIES
51 15 5184 A0 2 (1) 11,13.22
AT 19% EHFIES
6 6| 5609 Hik £ (1) 11,13.63
EVEP LYY MtERE &
71 18 4910 #n@ AIX (1) 11,19. 11
05" Y94 HNET
8 19 5323/u@E EA() 11,24.43
8 b B/ HAER
9 1) 5139/ #8E EE (1) 11,25.83
mr IR EHFIES
10 29 5005 #I10 &/X (1) 11,30. 95
WY A EHERET
117 28 4930 5# &() 11,31.86
134 490 BT
127 26 4907 #n@E #HK (1) 11,34.70
75" 45En BT R
137 14 6371 @E# E& () 11,40.19
ZUN XY THE BT
147 30 6381 &L =£() 11,41.26
e 4yeq BT
15 27 5141 =@ EFEN) 11,54. 34
Y a9 EHFIES
16 17 5079 {&f& mEH# (1) 11,59.22
VIVIREES =k
177 13 5137 =m@ 8s&FE () 11,59. 26
N EVY EHFIES
18 5 6524 BE w& (1) 12,01.28
8w =&H
19 25 5338 Rt St (1) 12,05.57
91 73% &/ HEEF
20 11] 5149 #aK st (1) 12,06. 97
WEL Yavr EHIES
21 31 4997/ &3F #MER ) 12,10. 94
3% hAT+ EHFEHG
22 16 4934 1tE ®E#E() 12,16. 41
Y73 % HNET
23| 32 4908 &E ##E (1) 12,25.18
Th' 7 19% BT
24 7 5142488 &£ () 12,34.02
VUEEEDVIYS EHIES
25 9| 5138 AZE #(1) 13,08.10
o 5 vay EFHILER
26 47 5111 ## K () 13,13.58
ISEVIEVL] EEd
3 5182/'EX HE()
& WE EHIES Ri5
8 5489 FAR #BE (1)
THE Yavah Hikg Ri5
12 5397 #8# M (1)
#9534 14 [N A Ri5
22 5486 A R&E)
194" 1 1%k Hikg Ri5
33 5518 A K
DY MIVEV] L& Ri5

[(REE

1108208

[12:50 |




PEIE Y

3000m

B ohEifR 8,31.86
R B
g No. K & E& BEEE
1 18] 5334 EE A% (2) 9,49.72
Thng iy &/ HEF
21 260 4970 Kt =|HE(2) 9,54.70
1ty 4979 By A
3| 25 H021E+&A %22 9,59.26
3y V% EHEEAP
4 6/ 5324 AH #=(2) 9,59.43
9F8 1%y B/ HAER
5 3 5038 =& E#E(2) 10, 02. 62
ghny  19% EHEIP
6 12 5317 L& BF(2) 10, 07. 38
RV AEVIEVIY B/ HAER
71 32 5327 BA X+t (2) 10,07.74
M8 M B/ HAER
8 11 5022 Easf 1LE (2) 10, 15. 29
WL YR EHELP
9 13 5032/ /M#k #HiE (2) 10,15.42
s 1%t EHEHG
10| 16| 4916 [EE #XER(2) 10, 16. 01
T 7 hvhng BT R
1 20/ 5502/1@ =+ (2) 10, 16. 96
Y95 b4k Fikg
12| 33| 5024 gl EBKX(2) 10,25.70
h39%  1m4 EHELP
13 37| 4969 HE 1IEZE(Q2) 10, 26. 80
1791 3 By Eg
14 28] 4926 FERE 15 (2) 10, 32. 27
Yang 493 BT
151 31| 5041 /L 3tk (2) 10, 34. 24
Wy Y EHEIP
16 15 5606 /h& fEX (2) 10, 40. 33
1YY 194 MtERE &
171 27) 4974 #kEH K¥E(2) 10, 46. 48
7Y 5 ent 124 e
18| 29| 6520 TN &4 (2) 10, 46. 62
a9F 19% =&
19| 23] 6590 &1L 5h#E (2) 10, 56. 07
7HYY ER% HBIETP
20 5 6592 Bi& @A) 11, 05. 31
NN b HBIETP
21 36| 4972|EFEE WEE(2) 11,16.85
JhE IR B4 A
22 21 5194 /B8 B (2) 11,17.99
W EHIES
23 8 4911 KAR 3Em Q) 11,25.16
R MY HNET
24 1 5235 &8 &8 (2) 11,31.79
Az 194y Lt (A
25 10| 6368 [ FH (2) 11,32.54
WD ET /Y BT
26 17 5094 E+7= BE (2 11, 32. 87
10" 3% hF =1
27 30 4915ty £ (2) 11,46.99
153y 3984 BT
28 4 4923 FE Kih(2) 11,53.95
0 8 A7 HNET
29 22 5336 EF 1£4 (2) 12,06.75
75y 19% B/ HAER
30 34 4928 FA =K(Q 12,08. 44
M Y39y HNET
2| 5501 &K R (2
AR ¥ 39AF Hikg Ri5
7 5193/h#k EE(2)
nyy v EHIES Ri5
9 5188|E7HT FEIX (2)
J3F 9573 EHIES Ri5
14] 6399 H+= MEA (2
1039 14+ it Ri5
19| 5036 B&H K&t (2)
R EHEEP Ri5
24| 5504 KEO EAER(2)
ESF Abh Bt Ri5
35/ 5039 mEA E(2)
LSNP EHEREHT Ri5

[(REE

1108208

[13:10 ]




AT Y

3000m

[EResERE 8,31.86
R
] No. KE & ik iR WE
1] 40 5012 /hE Z(3) 9,41.70
WA VY EBHEHS
2| 41 5170/ K\ &FEQ) 10,17.36
1Y 19( EHdtish
3 43 5167#a@ EAE®Q) 10, 34. 20
Y48 Y394an EHFIES
4 42| 5131/ 1Iuo 2= @3) 10,44.13
Y F 95 Hites
5 39 5160 &4 5% ®3) 10,51. 34
TN XY EVRE EHdtiish
38| b5243|F&=T EH (3)
WIREEVIY HBIEF Ri5

[(REE

1108208

1311 ]




B

[Ri% [10H20H  [14:00 |
4 x 100mR
B ohEisRk 43.99
R B
[ 148] ) [ 2/8] B
B V-» FiRA No. K HEEE B -y FRA No. K # g fEE
1 7 EBEIHHC 5001 &F =m() 51.29 1 6 EFEIHHE® 5006 #HKk &th(l) 50.73
/4977 C ANTRY 3 th" /77 B AR MEY
5008 WEF BEF (1) 5035 T BETH(2)
7Y Yadn L VI
5002 {FE& & (1) 5033 He #&(2)
by Emy 4th  Mo%
4999 hER ARIR (1) 5025 FFH iRF(2)
Thy4  MEY 734 19
2 3 HBEEH®W 6588 it KA (2) 51.83 2 7 JpEHB) 5454 [+ HE(2) 52.42
AN FF19A Thh7 94¥F hothy” ¥F19B Thh3 MY
5234 1ZM FEAE (2) 5444 =B T (2)
vhy )avsng WYY R #
5233 BIR 1K (2) 5453 Ll R4 (2)
RAVIVELL] Y £ (1Y
5228 E#D #t(2) 5464 A Bt (2)
ahrHE v+ 9FA7 h4b
3 5 t=£d A 5549 W E(2) 52.76 3 3 EBEFW 5259 MK EiR(2) 53.33
F274F19A YN ¥y Y3 #4139F29A wWEN TH
5552 =R B¥ (2) 5260 AIA A2
YD a9a( IR I 49
5548 iZHE E#t(2) 5256 db#f EB(2)
vhE FqY a2 947 VY
5551 A EB(2) 5267 thif ££BE(2)
WEL HM Thhs yav%
4 6 =EHA) 5087 FAH #HE Q) 54.08 4 1 #BEFB) 5245 45 B (1) 54.24
#v39F19A NZ1948 4h% AYN +¥19B Ny kY
5098 EfHE BIX (2) 5241 =E B(1)
=LEMVLT] 89 b
6510 IO 3CEk (2) 5237 K& HEM)
W F 73% sy 9w
5092 &ZE H=83(2) 5240 mIiE FOHE(1)
44470 Yavy 7 oy SRV
5 2 FE#EH® 5415 FAK f@th (1) 55. 66 5 8 #HiErsh (B) 4914 #RIE T (2) 54.98
7hHB TH¥ Y4 1§ 37198 14973 Y19y
5411 FEHE BHAER (1) 6382 =E BEE (2
115" Ansny SUAVE Ve
5430 AME b (1) 4912 R Kih(2)
EYE IR 2 VKXt
5429 AIE K (1) 6305 %E =% (2)
9393 19% 14V
6 9 JIFEFEO 5440 #LE & () 56.17 6 4 #HiET (C) 6370 T# M) 55.07
hIthY” ¥F190 Lhs by 1§ 37290 YELT Bhl
5462 K& &L (1) 4937 Eik E ()
YT b #4409 yn" 4
5441 1£B —#(1) 6376 /iE Z=K(1)
#8) HR % vV ]
5449 /NERIR FE(1) 6303 XE EE )
1 h v Y/ IHah
7 4 ZBH 6 5076 BT E() 57.05 7 9 #EyrEH @B 4978 Fm@E ZEKX) 55.97
#v39B Oz 934" +h¥19B NA Yans
5077 2% #HAN) 4982 BANl RE(1)
47 49tk 509 EMA
5079 &M E# (1) 4980 WA HE(1)
VIR ES IYES 714
6524 EE mE(1) 4983 FIR K1)
an) 4 Y% o4
1 =B$ 0 5080 ®H EhAX (1) 8 5 EMEH®) 5282 /h#k EFE(D) 58.12
#5a9C MY hvs K& #4139F29B N vy yait
5100 {EHE E¥R(1) 5263 AL BEAR()
A I 2 WYY 44
6525 RIFF |2 (1) 5270 E&N f&X)
PR VIV NhT 194
6523 h#t 1&42 (1) 5281 #1b b (1)
Thh7 19% WA Y3
8 =4 (D) 2 EFHEERS ()
#39D Ri5 thJFM7E




EFp
4 x 100mR

[ 348] [ 4%48]
g V- FiRE No. K £ e EE B -y FRA No. K £ B/ EE
1 7 e & (A) 5459 P& #HE Q) 50.05 1 8 EREH(0) 5275 KH —t (3) 46.17
hIthYT ¥F19A Moa9% #4139F29C IAAT K
6172 #a% £&(2) 5265 E&I)I EXxQ)
~Yh7 H4T N7 Yagrk
6175 MT HH(2) 5279 =t B Q)
a5y vt ahny 4
6173 EZE KF(2) 5258 Ei& Fith (3)
7O T MEHR TAFNT 24Y
2 6 FEisF®W 5506 AT % (2 50. 22 2 7 RIS 5169 FK #EQ) 46.53
7RI F19A 1794 )39 Th /597" A THE
5508 HiE E£(2) 5176 #1U $RHE Q)
ThY 7 iy AT 4h
5511 #mE M2 5158 /B =1EH ()
158 93y 1YY b
5510 #EJIl F|/HL (2) 5162 F #H3Q)
TUh7 44% #9 ko
3 3 EHAIHE® 5190 FH EFQ 51.09 3 2 REHEZHHEO) 5010 25 FHQ) 47.30
Th /§97°B 734 3934 /77D VIVESN & Y
5192 /INEB Z:EHE (1) 5019 #HR E&EQ)
Y Y% EVVEDIS =3
5186 A& Eth(2) 5014 #5K ZEth
9FEL Yadh AR AR
5191 /N#K FHE(2) 5017 kB BE=(Q)
RO VL S EVEVS
4 2 HNETH (A) 6384 FIHE E#h(2) 52.16 4 3 F/)HASN 5321 £ B () 48. 33
Y YFF19A 749" 19Ah Y1 14Z9F19A YFY 194
4919 /KX (2) 5322 TH &£ (2)
Iy 398 A2
6367 FH =EEF(2) 5316 AWE EE& (2)
734 17 9FK Y 4hta
4918 MA@ W (2) 5333 HF®E EX()
o4 3tk 1y Yao%
5 4 #%H/HEEH B 5324 WHA #=(2) 54. 21 5 4 EFEIBHA) 5027 L BAEQ) 48.42
v114=YF19B ¥4 19y T /E77A EVAEEEULY|
5328 ®iE B (2) 5042 £R% £X(2)
31349 A4 117 H4%
5334 RIR A% (2) 5031 /hith  #E (2)
Thng vy Mr eal
5318 #iA BA(2) 5040 £IR sk (2)
AR F Y98 h43  hA 1%
6 8 =i ® 5477 #a;E FOHE (1) 54.27 6 9 EyrEPW 4981 =48 =E) 48.58
1997198 %0 A% #9730 +hF19A ISRV
5484 A &) 4971 Ik BEQ)
4r9F 19 Y Yasaq
5478 FH XKEM) 4966 WL H#EE(Q2)
734 4 4% 95V UEY
5492 JLIE wA (1) 4959 [E RQ)
403 Y39k #5297 Yan
7 5 H=ld®) 5117 A E& () 56.79 7 6 EREHFW 5427 JtE R (2) 49.19
MIRIFLIA EVZ S i ThikA 973 3t
6396 AF K5 (2) 5426 iR =i (2)
wb N hiH9 +1
6404 =iE MK (2) 5425 FRiE M3 (2)
Ry id!| ThY Em73
6405 FHH HRE (2) 5420 E# EAQ)
EM SR kAt Jub
8 9 LiEHRMN 5520 thf fRIR(2) 57.10 8 5 MERHFH A 5631 WLE RER() 49.45
M MF19A Thhi 47" % 774107 /A REAE S
5523 /ML ME(2) 5626 r#t KM (2)
Y 41 LUIVERL)
5516 H™H BER(2) 5629 i 2E(2)
41h At Thhs enky
5527 Hd KHE(2) 5625 Bit 21E(2)
41h 4 4% yYh7 %




B

4x

100mR

BALL—X

JIE {2 TRA MERE R BE -5 - -5 -2 -5 -3 -5 -4 # IEAL
1 ERES (0) 46.17 K —thB) EAI E=Q)|=E BEQ) 2 Bt Q) 4 1
2| REFALEF A 46.53 BA HEQ Al REQ) ME EELQ)E FRIQ 4 2
I REFHEEF D) 47.30 2ig FH Q) FR EFHEQ #HK Fth KB BEZ®Q) 4 3
417/ FdF (A) 48.33 TR BE(0) THIEREQ RWE EEZQ [#FHR 5Xx0) 4 4
5| REFHEEF A 48. 42 W BAFEQ fRE EXQ [/ FEQ) ER = Q) 4 5
6 4~ (A 48.58 E8M Z=EA) M BFQ AL AEOQ i)ir = (3) 4 6
HE=EEIO) 49.19 I8 KRB 2) LR ZwEQ) K HXQ2) EHE EAQ) 4 7
8 MEREF (A 49. 45 Wi RER()  [MAT RH#EQ) dF AXMBQ) B BHEQ2) 4 8
9 JIlFErh (A) 50. 05 FA#HEQ @B £E5Q T BRQ EFZE KMQ 3 1
10| Ededr (A) 50.22 =F %2 hiE B2 (2) A FlQ2) EN RE Q) 3 2
11| REFEERF B) 50.73 Rk Rtb(1) WWT BERQ HP BEQ FTH REIQ 2 1
12| RE¥71L &8 (B) 51.09 H EFQ NMNBE EERE0 XX R Q K TFIEQ) 3 3
13| REFHE SR (C) 51.29 &8 Z8m30) wE #PQa) FEE L EEE O 1
14 4FEFEF (A) 51.83 hi XA () FEH AR Q) BR A2 EH Q) 1 2
15 HnET R (A) 52.16 B B4Q) /M =XQ F"H EEQ AH FHIQ 3 4
16/ 1 &5 (B) 52.42 FH E8 Q) TB f#Q) [k #6802 R\ & Q) 2 2
171£=%5 (A 52.76 N E () =R EEQ) FHE E#Q K E(2) 1 3
18 ERESF (A) 53.33 AR EER(2) RIA |AQ)  deA E(Q) hiT £8(2) 2 3
19 =&z (A) 54.08 PAR FFEQ) | EgA BIK(Q2) A & 2) E=E #£=80) 1 4
20 |#&/FHFEF (B) 54. 21 WA B=2) @m= 8302 EER AXQ #HKXK BXQ 3 5
21 #&TEH (B) 54.24 WE g0 22 BIN) XK= GENQ) w#E MEA) 2 4
22 ®Eitdh (B) 54.27 mmiE FIEA) TR &) A KEN) dFE JmEAD 3 6
23 | #iETF (B) 54.98 fRIE T2 =EiE “EF (2) FiEE K (2) [ CE Q) 2 5
24 | #jET F (C) 55.07 TH ) A N EINORES:H--10) 2 6
25 & #Edh (B) 55. 66 BA @Mt (1) FEEA BAER) BHE Hhd) FIE #HIRA) 1 5
26 {4~ @ (B) 55.97 FHE ZEKO) BN REJ) X FHEA) BE #BXAO) 2 7
27 )1l &R (C) 56.17 ME &) KE BLEDEE —&A) /NEIE BEA) 1 6
28 Eitd (A) 56.79 =H 825 0) XAF REQ FF X2 TF #BEQ 3 7
29 =54 (B) 57.05 =F Z(0) 22 A0 [EE E&J) BF mEA0) 1 7
30 | [afE R (A) 57.10 & FWRQ) /ML HEQ2) A BRQ) B KEQ) 3 8
31 EE (B) 58.12 IHEEN) Al BXKA) BRI EXM [ Rl EFEh ) 2 8




BRI

B3 [T0F208 _ [12:00 ]
el
=
EEBk
Benig 1.97
R
JERL| S| o - E % RES 1m20] Tm25] 1m30] 1m35 1m40 | BE
1 2 5185 ;mE a8 (1)
2 3 4937 ;,Z?l Eé/(?) REFLE® R G o
H&E
2 4 5241?1‘;} @1(1) e S e -
= B2 - -
EWUJQ\M(U - 0 X0 XXX 1.35
4 5 SAT8EH AR - -
AR _—— XX0 XXX 1.35
1] 5488 #%iR &R (1) Ri5
79" 47 1944 B
4
FFhFE2E B33 T0H208___12.00 |
el
=
EEBk
Benig 1.97
R
IEfL | B E | Fon - K 4 B4 1m20[ Tm25] 1m30] 1m35] 1m40| 1m45] 1m50 1m55] 1m60 1m65| 4% | f&=
1 11 5234 3@ EEAE Q) _ - -
212 5464%% I/Jﬁ;?ﬁg) RS i Gl
39 4919%}2 M;c(z) NS SR S o o
I =A _ _ — -
1 65183“;?1:2?5%%2) — 0 XX0 XXX 1.45
it ol - -
5 10 6595 fu:/hﬁ? laé; @ =P L P
; i IR
6 8 5318?22 g’@c(z) RS il o
76 5272 .Z';; }}gg(z) RIAT B B >
3 BH
534 199 EkEh 0 0 XXX 1.25
4
FFhFEIE B33 T0H208___12.00 |
el
=
EEBk
Benig 1.97
R
W s o - E & —— 11::%8 mgg 1m30] 135 140 145 n60| mS5 | 1n60) 165 =ge puse
1 14 5249 &K F&E (3) - - F - F - F 0 19
Y32 hptn Bt X0 XXX :
2 13 5271 #8@ EA Q) - - - -0 xxx 1.40
VI Ekgs )




BFINFIE B3 TOH208 1327

ENE Bk

BN 5.47
R
L B o - E 2 FEZ e B e e " R =2
11 MET B%@ N X 347 3.53 3 53
v 194 N .0 +1.5 .5
23 18 Kk RAM@)  hEAE 200 281 3.12 3.12
HEE by BRFD/N A6 2.2 +0.9 +0.9
34 19EA HA@ INEEHE 290 2.72 2.7 2.5
T b BRFD/N W0.6  +1.2 +1.0 1.0
4 2 35 BAM) INEEHE 2.44 | 2.40 2.7 2.72
4 bl il A6 w22 4.2 1.2
—}
FFINFSE B3 TOH208 1327
=
ENEBE
BN 5.47
R
L B o - E 2 FEZ T e B e e I IR =
176 38BEBAG) N 351 | 3.40  3.39 3 51
M4 295 L W05 +1.0 407 0.5
2 5 37 feH B (G) INERHE 3.05 X 3.01 3.05
MBI il/h 0.7 4.0 0.7
37 3R —FG) INERHE 2.85  2.86 290 2.90
DR RN 4.0 2.0 +1.0 1.0
—}
FFINF6E B3 TOH208 1327
=
ENEBE
BN 5.47
R
L B o - E 2 FEZ T B e e I IR =
1714 32 %3 WA ®) N 374 392 X 3.0
Dhtn San BRI/ .3 +0.6 +0.6
211 62 Wil = (6) INEEHE X 378 3.82 3.82
YO8 % 1Ra% BAN 0.9 0.7 0.1
38 31 NEBE BF06) P& 365 3.72  3.59 3.72
15 yahT BRI/ 10.6 | +1.5  +1.3 .5
410 53 EME HKA®) INEEHE 3.65  3.44 3.2 3. 65
B33 199" 4 EEN W05 +1.0 .1 +0.5
5 13 585K RAERG) NEE 3.35 | 3.46  3.11 3. 46
1tk Fuhng pELE N +0.9 +0.5 +0.7 +0.5
6 9 33 fi#k 22 (6) N 303 3.08 305 3.08
B Y 8 BRI/ W0.7 +1.3 4.2 1.3
712 5T hE &6 INEEHE X 2,49 2.84 2.84
Ens 29k AN A1 0.4 +0.4




BRI

RIs 10820 | 9:31]
=
ENE Bk
Bk 7.04
R
Bz 3 E Fon - K 4 E# -1- -2- -3- -4- -5- -6- FCER -2
1 200 5183/h#k B (1) X 4.97 X 4.97
nyy 7y EHFIES +1.1 +1.1
20 21 4983|FiR XM 4.69 4.64 X 4.69
Yt s By Es +0.4 | +0.2 +0. 4
3| 14 5077 2% #AD) X 4.69 X 4.69
47 44k =L +1.1 +1.1
4 19| 5477|7:Z FO¥E() X 4.50 X 4.50
%0 A% Hikg +0.6 +0.6
5/ 17 5140i@ ZE (1) 4.39 4.06 4.23 4.39
174 )ay EFHALER -0.3 | +1.3 | +0.8 -0.3
6/ 15| 6279 EFR K¥E() X 4.37 4.38 4.38
9INT 4 4% MtERE+ -0.2 +0.9 +0.9
7/ 13| 65234t f&&2 (1) 4.09 4.32 4.00 4.32
Thh7 19% =& -0.4 +0.8 +0. 1 +0.8
8 2 6525 RIFF w2 (1) 4.19 X X 4.19
AN y7T Y RE =& +0.9 +0.9
9/ 10| 4996:F/K #FAK () 4.13 X X 4.13
VL] EHERET +0. 6 +0. 6
10/ 16| B39 F&a H|/AE() X X 4.11 4.11
M 444 &/ Ff +0.9 +0.9
11 12/ 5100 {EHE EFR(1) 4.02 4.00 4.02
TUE by =& 0.0 +0.5 0.0
12 9 5080 ®H EiK() X X 3.97 3.97
M hVY =L +1.6 +1.6
13 220 4982 Bl RE() 2.97 3.93 3.28 3.93
LV IVEIY))] By Eg 0.0 +0.8 +0.8 +0.8
14 4] 5436 L EE (1) 3.54 3.64 3.75 3.75
VIR TN JIlh B +0. 1 +0.3 0.0 0.0
15) 11| bd41{&E —#&t (1) 3.61 X 3.63 3.63
$hY hR# JIlh B +0.5 +0.5 +0.5
16 5 5494 |LFE HEth (1) 3.62 3.61 3.37 3.62
93y a9y Fikg +0.4 +0.6 +0.9 +0.4
17 1 5479/=@ &) 3.50 3.57 3.51 3.57
95 Y39 Eites +1.2 +0.1 | +1.4 +0. 1
18 7 5237 K= #HE () X 2.93 2.63 2.93
iy 19% BIETP +0.5 | +0.4 +0.5
3 5483 1k #A(1) Ri5
$b9 194 Hiboh
6 5143 /L FHE () Ri5
WY MY EHIES
8 5262 = A MEA(1) Ri5
4 14 EEsF
18| 5261 #IFE #HiF (1) Ri5
LAV EEs




FFRFEIE B33 T0R208 [ 931 ]

ENE Bk

BehiEsg 7.04
R
L B o - E % FEZ - = [ 3= 4= 5 | -6 | =@ | EE
11 33 5040|£R #1x%& (2) 5.13 5.33 5.57 5.57
h41 A 1% EHEIHG +1.3 +1.1 0.0 0.0
21 39| 5511;th@A RI(2) 5.36 5.52 5.54 5.54
155 93y Bt 0.0 +0. 1 0.0 0.0
31 34 b5453[ LI 1R (2) 4.75 5.39 X 5.39
Y % 41y Jilh & +1.1 +1.0 +1.0
4] 36/ 5025 FEH ®RFE(2) 5.23 5.14 5.29 5.29
734 1y EH RIS W0.6  +1.4 +0.6 0.6
5 30| 6396 XF KAE(2) X 5.02 5.09 5.09
Fob M HiL +1.4 +0.2 +0.2
6| 28 6405 FH HRE (2) 4.88 4.04 5.06 5.06
EMSIPR it +0.6 +0.5 +1.3 +1.3
7 35 5331 EF HX(Q) 4.84 5.02 4.96 5.02
74Y 194 YR T +1.2 +0.4 +0.4 +0.4
8 37| 5316 AiE &% (2) 4.88 5.01 4.94 5.01
9FF 1) 4hkn YR T +1.2 +1.1 +0.1 +1.1
9 31 6404 B HK(2) 4.7 4.99 4.91 4.99
Reavikyid! it +0.6 +1.2 +0.4 +1.2
10/ 32| 5630 %=2% #®X(2) 4.59 4.62 4.56 4.62
7497 19574 MtERE+ +1.5 +1.3 0.0 +1.3
11| 29 5454 @A+ B (2) 4.16 4. 21 4.55 4.55
Thh7 MY Jilh & +0.5 +0.4 +0.3 +0.3
12| 23] 5509 #E=F ZEH (2) 4.15 4.38 4.02 4.38
FE VAN DAl Bt -0.2 +1.4 +0.8 +1.4
131 24 5548iFH E#H(2) 4.30 4. 01 4.35 4.35
Jhe h4YT 1 +t-£ +0.4 +1.5 +0.5 +0.5
14| 26 5546 EMA EE(2) 3.41 4.20 3.50 4.20
U8 4 t=% +0.2 +1.2 +1.1 +1.2
15] 25/ 6510 A 3X& (2) X 4.1 4.16 4.16
T F 3% =% +1.9 +0.4 +0.4
16| 40 552442 H{AH(Q2) 3. 81 3. 64 3.47 3. 81
947 Yag7 Lt +0.8 +0.8 +0.2 +0.8
17] 27 6593/ 4k EE (2) 3.47 X 3.70 3.70
vy vy FEIEF 0.0 +1.4 +1.4
18] 41 5516 HF ER(2) 2.56 X X 2.56
50 WLt L .4 .4
38 5634 LA XK#&E(2) Ri5
¥R F 5 A% HHE S5
—4
FFhE34E B33 T0g20H 937 ]
=
ENEBE
BehiEsg 7.04
R
L R o - E % FEZ - = 3= 4= 5 | -6 | =@ | EE
11 47 51108 EZ2 Q) X 5.98 X 5.98
74N TR it +0. 4 +0.4
2 46| 5250 db#t &A% (3) 5.25 5.49 X 5.49
947 bEY Tk +0.1 +1.3 +1.3
3 44 5274 FR ®REBQ) X 5.33 X 5.33
7047 METE EEdg +0.5 +0.5
4] 43 5017/kKE EZ=(@Q) X 5.19 4.91 5.19
ATV vagys EHEEHG +0.4 +0.1 +0.4
51 42 5164 fEi#h =E A Q) X 5.12 4.94 5.12
33 tab RS +1.1 0.0 +1.1
6 45 5020 ;&0 st (3) 4.98 X X 4.98
a3 § EHEHE 0.0 0.0




BRI

@ &, B3 T0H208 _12:30 ]
A& (5. 000kg)
Rehiisz 13.45
R
“LEﬁ]L Eﬂ}% 7L‘/5I§‘7E) &N %‘E‘ﬁk%) RS 5_13_8 5_22_1 5_31_7 e E53?8 =
neh'9 198 Bl : : : '
R e e L e >
2 5493 Jork 1) R mE — e
IVIVEV) Eio
3;!;?47_%:&5 B3 T0H20H __[12:30]
A& (5. 000kg)
B oA g% 13.45
R
B Wy R T v T e e R T
2 16 5547 37??73%@%(2) e 8.40 x x 8.40
3 13 6367%#”%%(2) EeEE 7.41 8.02 7.10 8.02
4 10 6383 T&zggéé(z) e 7.84 7.52 7.76 7.84
5 15 5549 ;;;*ag(z) i 7.05 7.63 7.80 7.80
YN Y Y39 t=&d : ' ' :
R R e o
8 6 6516 %g;%q%gég)] o 6.86 6.50 6.20 6.86
Y/N5 Ny A = ' ' ' '
e O z
£) ¥ 137 = ' ' ' '
1t tts Eid
3;!;?47_23’,:&5 B3 T0H20H __[12:30]
A/ (5. 000kg)
B oA g% 13.45
R
"Eﬂ% Eﬁ% 7Ufs'z\t‘o_a k] ﬂﬁ%? (3? s 1 2_19_9 1 3_23_4 —Xs S 1?3 e
2 18 52583%% %}%(3) e 7.06 9.15 9.24 9.24
D3tA" 4t R+ : ' ' :




	小100
	中100
	200
	1000
	3000
	4x100
	HJ
	小LJ
	中LJ
	SP

